HW 2.1

Watching and reviewing the online recording gave me the knowledge for calculating forces due
to static friction. Within the recording it talked about the weight of static fluids resting on top of one
another. Mentioning that even in different containers the way to solve for the values won’t change and
remain constant. Although using inclined walls the formulas to follow and ways to solve for values

change slightly. Finding the average pressure utilizes the centroid of the slanted wall and is used to find
forces typically applied at the é the height on the wall. Along with using the moment of inertia to help

find the properties of a rectangle with respect to an axis.

In class we were taught about drag and lift and the applications you can find these forces
enacting upon an object. The Drag and drag coefficients are use when the velocity and pressure are
going against an object pushing past on either side causing vortices to form behind an object. These
vortices can change through oscillations or locations of an object in relative distance to flow. For lift it
showcased the differences in flow over the object compared to drag formulating it’s own calculations
and formation of forces. As the velocity increased and flowed over creating low pressure, air flowed
back under in a low velocity but high pressure causing a spinning motion of the object creating lift.

Noting that in both they have similar formulas to use relying on velocity and finding the missing values.
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